N 23 0000 12412

(Requestor's Name)
(Address)
(Address)
(City/State/Zip/Phone #)
, , , ,
PICK-UP WAIT MAIL
(Business Entity Name)
(Dusiness Linky Harrie)
(0
(Document Number)
Certified Copies Certificates of Status
Special Instructions to Filing Officer:

Office Use Only



700415024137

10/26/23--01005--003 **367.50

2 · PH 2: 10

2023 OCT 26 PM |2: |1 SECRETARY OF STATE TALL AND SECRET

RECEIVED

COVER LETTER

Department of State Division of Corporations P. O. Box 6327 Tallahassee, FL 32314

SUBJECT: Atiskool, INc		RATE NAME – <u>MUST IN</u> O	CLUDE SUFFIX)		
Enclosed is an original a	and one (1) copy of the Artic	eles of Incorporation and	a check for:		
■ \$70.00 Filing Fee	☐ \$78.75 Filing Fee & Certificate of Status	□\$78.75 Filing Fee & Certified Copy	☐ \$87.50 Filing Fee, Certified Copy & Certificate		
		ADDITIONAL COPY REQUIRED			
FROM:	ROM: Sunja Leon Name (Printed or typed)				
53 NW 106th St					
	Address				
	Miami Shores, FL 33150				
	City, State & Zip				
	786-234-9739				

NOTE: Please provide the original and one copy of the articles.

E-mail address: (to be used for future annual report notification)

Daytime Telephone number

Nokkhagroup@gmail.com

ARTICLES OF INCORPORATION
In compliance with Chapter 617, F.S., (Not for Profit)

<u>ARTICLE II</u>	PRINCIPAL OFFICE			
	Principal street address:		Mailing address, if different is:	
108	01 Starkey rd # 104-324			7±11-
Ser	ninole Florida			
337	77, Un			
ARTICLE I	II PURPOSE	nis comoration is fo	ormed to provide human and social serv	vices to individuals
	for which the corporation is organized is:	no corporation to it	inited to provide number and social serv	
in the comm	unity with a special focus on ART	- · · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	· · · · · ·
See provisio	ns attached		 	· · · · · · · · · · · · · · · · · · ·
		·		
			A., mag.	dalah in dan ba
			As DIO	viaca in the by
<u>ARTICLE I</u>	MANNER OF ELECTION The mani	er in which the dire	ctors are elected and appointed: As pro-	vided in the by
<u>ARȚICLE I</u>	MANNER OF ELECTION The man	er in which the dire	ctors are elected and appointed:	-
ARTICLE I			ctors are elected and appointed:	-
ARTICLE V	Vanesca Fanfan (President)	TORS	Karoll-Ann Fanfan (Secretary)	-
ARTICLE V	Vanesca Fanfan (President)	<i>TORS</i> Name and Title	Karoll-Ann Fanfan (Secretary)	-
ARTICLE V	INITIAL OFFICERS AND/OR DIREC itle: Vanessa Fanfan (President)	TORS	Karoll-Ann Fanfan (Secretary)	
ARTICLE V	itle: Vanessa Fanfan (President) 10801 starkey rd # 104-324	<i>TORS</i> Name and Title	Karoll-Ann Fanfan (Secretary) 8910 miramar Pkwy suite 110	
ARTICLE V Name and T Address	INITIAL OFFICERS AND/OR DIREC itle: Vanessa Fanfan (President) 10801 starkey rd # 104-324 Seminole Florida 33777, Un Antione Franck Adrien (Officer)	TORS Name and Title Address:	Karoll-Ann Fanfan (Secretary) 8910 miramar Pkwy suite 110 Miramar, FL 33025, Un Oliver Duret (Treasurer)	
ARTICLE V Name and T Address Name and T	INITIAL OFFICERS AND/OR DIREC itle: Vanessa Fanfan (President) 10801 starkey rd # 104-324 Seminole Florida 33777, Un Antione Franck Adrien (Officer)	TORS Name and Title Address: Name and Title	Karoll-Ann Fanfan (Secretary) 8910 miramar Pkwy suite 110 Miramar, FL 33025, Un Oliver Duret (Treasurer)	
ARTICLE V Name and T Address	INITIAL OFFICERS AND/OR DIREC Vanessa Fanfan (President) 10801 starkey rd # 104-324 Seminole Florida 33777, Un Antione Franck Adrien (Officer)	TORS Name and Title Address:	Karoll-Ann Fanfan (Secretary) 8910 miramar Pkwy suite 110 Miramar, FL 33025, Un Oliver Duret (Treasurer)	
ARTICLE V Name and T Address Name and T	INITIAL OFFICERS AND/OR DIRECT itle: Vanessa Fanfan (President) 10801 starkey rd # 104-324 Seminole Florida 33777, Un itle: Antione Franck Adrien (Officer) 1550 Brickell Ave apt A413	TORS Name and Title Address: Name and Title	Karoll-Ann Fanfan (Secretary) 8910 miramar Pkwy suite 110 Miramar, FL 33025, Un Oliver Duret (Treasurer) 11241 SW 111th st	
ARTICLE V Name and T Address Name and T	INITIAL OFFICERS AND/OR DIRECT itle: Vanessa Fanfan (President) 10801 starkey rd # 104-324 Seminole Florida 33777, Un Antione Franck Adrien (Officer) 1550 Brickell Ave apt A413 Miami, FL 33129, Un Manual John J. Pares (View President)	TORS Name and Title Address: Name and Title Address: Address:	Karoll-Ann Fanfan (Secretary) 8910 miramar Pkwy suite 110 Miramar, FL 33025, Un Oliver Duret (Treasurer) 11241 SW 111th st Miami, FL	202
ARTICLE V Name and T Address Name and T Address	INITIAL OFFICERS AND/OR DIRECT itle: Vanessa Fanfan (President) 10801 starkey rd # 104-324 Seminole Florida 33777, Un Antione Franck Adrien (Officer) 1550 Brickell Ave apt A413 Miami, FL 33129, Un Manual John J. Pares (View President)	TORS Name and Title Address: Name and Title Address: Address:	Karoll-Ann Fanfan (Secretary) 8910 miramar Pkwy suite 110 Miramar, FL 33025, Un Oliver Duret (Treasurer) 11241 SW 111th st Miami, FL 33176, Un	202
Name and Taddress Name and Taddress Name and Taddress	INITIAL OFFICERS AND/OR DIRECTION Itle: Vanessa Fanfan (President) 10801 starkey rd # 104-324 Seminole Florida 33777, Un Antione Franck Adrien (Officer) 1550 Brickell Ave apt A413 Miami, FL 33129, Un Itle: Manuel John J Perry (Vice President)	TORS Name and Title Address: Name and Title Address: Name and Title Name and Title	Karoll-Ann Fanfan (Secretary) 8910 miramar Pkwy suite 110 Miramar, FL 33025, Un Oliver Duret (Treasurer) 11241 SW 111th st Miami, FL 33176, Un	2023 5
Name and Taddress Name and Taddress Name and Taddress	INITIAL OFFICERS AND/OR DIRECT itle: Vanessa Fanfan (President) 10801 starkey rd # 104-324 Seminole Florida 33777, Un Antione Franck Adrien (Officer) 1550 Brickell Ave apt A413 Miami, FL 33129, Un itle: Manuel John J Perry (Vice President) 3530 Mystic Pointe Drive	TORS Name and Title Address: Name and Title Address: Name and Title Name and Title	Karoll-Ann Fanfan (Secretary) 8910 miramar Pkwy suite 110 Miramar, FL 33025, Un Oliver Duret (Treasurer) 11241 SW 111th st Miami, FL 33176, Un	2023

Name and Title	e:	Name and Title:	·
Address		Address:	
N. A. T.			
Name and Title	Y-	Name and Title:	
Address		Address:	
ARTICLE VI	REGISTERED AGENT		
		T acceptable) of the registered agent	is:
Name:	Sunja Leon		
Address:	53 NW 106st		
	Miami Shores,FL 33150		
		 	
ARTICLE VII	INCORPORATOR		
	address of the Incorporator is:		
Name:	Sunja Leon		
Address:	53 NW 106st		
	Miami Shores ,FL 33150		
ARTICLE VII	I EFFECTIVE DATE: 10/24		
Effective date,	if other than the date of filing:	/2023 (OPTI	ONAL)
(If an effective	date is listed, the date must be spe	cific and cannot be more than five	days prior or 90 days after the filing.)
Note: If the da document's eff	te inserted in this block does not med ective date on the Department of Stat	et the applicable statutory filing requier's records.	irements, this date will not be listed as the
Having been n	amed as registered agent to accept a	service of process for the above state timent as registered agent and agree to	ed corporation at the place designated in this
congresse, rum	Juminar wair gata accept the appoint	meni us regisiereu ageni unu ugree id	ouci in inis cupacity
			
	Required Signature of Reg	_	Date
I submit this do the Department	cument and affirm that the facts state of State-constitutes a third devree fe	d herein are true. I am aware that an lony as provided for in s.817.155, F.S	y false information submitted in a document to
-	X 4.	,	
	Required Signature of	f Incorporator	Date
	1	•	~~~

PURPOSE AND POWERS Said organization is organized exclusively for charitable, religious, educational, and scientific purposes, including for such purposes, the making of distributions to organizations that qualify as exempt organizations under section 501(c)(3) of the Internal Revenue Code, or the corresponding section of any future federal tax code.

This corporation is formed to provide human and social services to individuals in the community with a special focus on ART.

LIMITATIONS ON ACTIVITIES No part of the net earnings of the corporation shall inure to the benefit of, or be distributable to its members, trustees, officers, or other private persons, except that the corporation shall be authorized and empowered to pay reasonable compensation for services rendered and to make payments and distributions in furtherance of the purposes set forth in the purpose clause hereof. No substantial part of the activities of the organization shall be the carrying on of propaganda, or otherwise attempting to influence legislation, and the organization shall not participate in, or intervene in (including the publishing or distribution of statements) any political campaign on behalf of any candidate for public office. Notwithstanding any other provision of this document, the corporation shall not carry on any other activities not permitted to be carried on (a) by an organization exempt from federal income tax under 501(c)(3) of the Internal Revenue Code, or the corresponding section of any future federal tax code, or (b) by an organization, contributions to which are deductible under section 170(c)(2) of the Internal Revenue Code, or the corresponding section of any future Federal tax code.

DISSOLUTION Upon the dissolution or the organization, assets shall be distributed for one or more exempt purposes within the meaning of section 501(c)(3) of the Internal Revenue Code, or corresponding section of any future federal tax code, or shall be distributed to the federal government, or to a state or local government, for a public purpose. Any such assets not disposed of shall be disposed of by the Court of Common Pleas of the county in which the principal office of the organization is then located, exclusively for such purposes or to such organization or organizations, as said Court shall determine, which are organized and operated exclusively for such purposes.